RRBEHEAR (L) FRAF

e RER IR

BESH

NEAEEE

I3 E(TTRIL)

MUK MERFEEANELQ@ 360°)
= KR

D YR

RARTESEM

PRIEE KA R

R E A R R

RIFE KRG AL FBIEER
BEREXRSGEEBER
AHESRANRERHK
MTTFd/MTBF

s E

T AR B R IRF (typ.) RIEE K
T AR EBRIAFE(typ.) BEERX
&/ B SRR
WHRABRAR

BB R AR M S I AR I

Mo BSERE

BREGBRBE

RO BSERE

BREGBEBE

TR

o B SREE TR
BREEBBE TR
REBSEE TR
BR&EUEBBE TR

A ES T

HL 5 AT E

B S &

R/ F

THENEFRE

IEC 68-2-6 #&3) (Amax =0.75mm, f=5 ... 2000 Hz)
IEC 68-2-27 i

(S a=g a3

EN 55022 class B, Emission radiated (30... 230 MHz)
EN 55022 class B, Emission radiated (230...1000MHz)
EN 61000-4-2, ESD (contact discharge / air discharge)
EN 61000-4-3, Immission HF radiated (80... 1000 MHz)
EN 61000-4-4, Burst (on all lines)

EN 61000-4-5, Surge (lines to ground)

EN 61000-4-6, Immission HF conducted (0.15...80MHz)
EN 61000-4-8, Immission magnetic field (50Hz)

IEC 60393-1 Insulation resistance (500VDC, 1bar, 2s)
IEC 60393-1 Dielectric strength (VAC, 50Hz, 1min, 1bar)

H35:021-5419 1392 4FT1:173 1638 6953

% of meas. range
% of meas. range

bit

kHz
kHz
us

us
ppm/°K
years
VvDC
mA
mA
kOhm
nF

mm2

mm2

mm?2

mm2

movements
°C

«Q «

dB(uV/m)
dB(pV/m)
kV

V/m

kV

kV

Vemk
A/m
GOhm
kV

MH-C

0...360

+0.3

0.5

0.1

12

0.1

(5)

1.66

(800)

4600

100

185/ 185

16 ... 35

(19)

14

0..05

100

yes

Wires (3x)
0.56 (AWG20)
Cable 3pole
0.56 (AWG20)
yes

Wires (6x)
0.56 (AWG20)
Cable 6pole
0.25 (AWG24)

360 (continuous)
1F68

no limitation

-40 ... +85

50

200

max. 30
max. 37
+4 /8
30

+1

10
30
20

MH-C2

0 ... 360
+0.3

0.5

0.1

14

0.1

)

0.5

(800)

2500

100

147 1 147
16 ... 35
(20)

15

0..05
100

yes

Wires (3x)
0.56 (AWG20)
Cable 3pole
0.56 (AWG20)
no

360 (continuous)

IF68

no limitation
-40 ... +85
50

200

max. 30
max. 37
4/ +8

Vert-X 37E - 24V / 4 - 20mA

K1 F

Rl HL%
BRI
ol ALK
BHRRARER

R ET

B E% IP68
FEAERIT
A= B 5%

REFa

EREENE
BAFEHRENA

(RE BN, RELRFE)
ERELSEETENS D H#
RAEH

R MH-C
2 PR 12bit
TER
EMH-C2EEER

@R MH-C2

PR 14bit

R R, EEFENAETR
E/F] R TE (T iE)

CONIELEC

A company of the Siedle-Group

W%k - wwwe. tifu-auto.com  iFf:info@imcortech.cn



AV

RERBEEA (L) FRAF

falek 33

IE M # B CWHRE1

IE @B E CCWH %2
TUR, E B BB CWATi£3
TUR, E@#E CCWAik4
TR, RXAES L AT ikS5

BT e

3 Al &4 4pole

5 ¥R A 448 3pole

7 A% 44 5pole / 6pole
9 Wik BB EKR LY

E BB E CW 5 1358 FF 5< i AT EA
EEBE CCW #5135 %1 H AT %8 N
ERRE CW #2877 %1 H TH5C o 2ol
E B4 E CCW %28 7F 3 f " T3£D o Tk e g 6p
s oy R 72 B84 6pole
s A P AEE TRE o itk HIK BRI 24
B R BERE T A R E A EF =
PR 2 N HE 3 75 [8) T AR E Wi G R
I8 AR SHEE T 8 T R T M ﬁﬁfﬁmm
T 47 #2Vert-X EasyAdapt®l i&EP 03 Wik 300m
05 #5f 50cm
wHES 99 Wik BHKE
4mA ... 20mA Standard 5
BYRKE
02 #7f 1.0m
06 Ti% 3.0m
e BEE 10 ik 5.0m
24VDC Standard 1 99 ik HHKE
Vert-X 3 7 E 4 7 3 6 1 5 1 0 5
BEEA
364R AR HE360°
xXA[ 03 to 35; Declaration in 10° steps
QTR HRB A
EREBERE
7 MH-C
8 MH-C2
HUARAS MR A
37E1 Wik AR L% size 13 ; Wit #1741 Mtype 1
37E2 Wik R Esize 13 ; W R T H4Gtype 2
37E4 FRAERIR R Esize 13 ; BMEHITHLA type 4
37E9 ik 45 BRI SRR AT
MH-C MH-C2
T HI B AT LA X X
T #Hl o= X X
17 #8845/ 4 4% X X
HROEAE KR X X
FFRIPEETTL (max. 2) X X
SRR MR & - X
$ 5k 85 4 BE30° to 360° (FWIT) X X
BRERATRE (M) - X
BIERML RARE (FIL L) X
HEF F ECW/CCW AR E / Al w2 (ALK SR H) - X
- X

FREIRARE AT RE (FNLE R

H%:021-5419 1392 4BT1.:173 1638 6953  Muh:www.tifu-auto.com Hf5f:info@imcortech.cn

n‘;-
=
Ic

Vert-X 37E - 24V / 4 - 20mA
PRk ]

FF 2%
BEML—IMERF(H®K 127), £
B A 7T B Rk

ik (REEFER)

CONIELEC

A company of the Siedle-Group



|

RRBETFHAR (LI FRA

=]

B s imiallale

~

';" -
s
| ]
Vert-X 37E4 xxx xxx 5xx
Vert-X 37E4 xxx xxx 7xx
B (incl.)
Finbaumass 7 tdz 1XE;§§§¥¢;%
i . ] . - L 2X T E; FHIR2ZM5x12
SW13 working position 16
| M5 —t | THAE(Z) M BT
- 21; 3 B R AV
— - Lt SEREER
\ —HH 16
= T
Lo O‘?‘ :— ajl - i
x 1=t o
S| & % IE =
| 7 HAn O \
e v
™M HURIN
j 4 H
||| #5Tiefe 5 12
6 26 19,4
Vert-X 37E4 xxx xxx 4xx
Vert-X 37E4 xxx xxx 6xx
B (incl.)
Einbaumass ¢ il i, s X BERF
P AELT 168 - o 2x g R L E IR 4 M5x12
SW 13 9P 1,6
L TENE(Z) 1 #MERTIGE
21, 8 B A R
P I - - 16 s SERERFER
= -
I —HHf
L o “CHIF -~
> T
X : |
(5] m\ D? ‘ [ee) 2=
I B O
S ™ _STHA \
S O Y~
(25| ]
] o T L
= 4
v =
g5 Tiefe b 12
826 24
A company of the Siedle-Group

H35:021-5419 1392  4pT.:173 1638 6953  Myk:www.tifu-auto.com  H4:info@imcortech.cn



AW

RREEEAR (L) FRAF

-

f- x_m

Vert-X 37E1 xxx xxx 5xx
Vert-X 37E1 xxx xxx 7xx
B2 (incl.)
Finbaumass 7 tdz 1x BIERF
. . . - - 2x T FE R E R4 M5x12
W1 working position 16
M5 - T B (Z) M BT LA
- oLl 8K AV
[ | e SEREEER
o -CHI 7
i 8] (]
o7 | 1 =4 =y
_
JolE e
M CHE 1
= BURIN 1
. | |
= 4]
\ gh Tiefe 5 17 168
g 26 _ I8
Vert-X 37E1 xxx xxx 4xx
Vert-X 37E1 xxx xxx 6xx
B2 (incl.)
Finbaumass / +dz 1Ix BERF
Sl 10 : — -t - 2x T FE R L E IR 4 M5x12
- i working position [ 1 g
L THEMNEZ) M BEERTIGE
4 BX A 4
S ] _ o BEREES
VT ik =
m}jj o o] L g
, \ el | 2 s
| @ e 1 Ul
&) ~ “l <HE v S
- T
‘w’/ =1 [ HH 1
i | ngi
| Yo T
#5 Tiefe 5 g2 10,2
826 24
A company of the Siedle-Group

H35:021-5419 1392  45T.:173 1638 6953  Muk:www.tifu-auto.com  H4:info@imcortech.cn



R}

RRBEFAR (LB FRAF

Vert-X 37E2 xxx xxx 5xx
Vert-X 37E2 xxx xxx 7xx
. B4 (incl.)
Einbaumass / tdz 1x BEXRF
‘ 1 = il R E1Ry
working position g 2% AL AR EMSK12
M5 L Tt B(Z) M AR AL
- i |3 8K A
\ =l 2! BEREES
A ~HT ©
o g
S T [
= 11| S B & R R
[_\J I__ . N
s | 0| B LJ‘_Tf 1= (=2 Iy g A
o A i |
) HURIE
Y Sy Nyl
— j_O, )
o | ‘®5Tiefe 5 ‘12_ ‘75,6_
926 o i
Vert-X 37E2 xxx xxx 4xx
Vert-X 37E2 xxx xxx 6xx
B #(incl.)
, 7 1Ix BEXRF
Einbaumass oL 7 - 2x 5 H R AL 3 4R 4 M5x12
—?J—y]—Mg warking position . 8| B R RS L
- 3 BSR4
e I SELZEER
) = :_: £
N <HIE 5
5 i
L0 oo r “ T “ Jl \
e A T R e e
o ] Q =AY
sl | o LJ‘,Tf ik =2y il i
IS it
™ JT
' Y NNl
—J;— = 10,5
| 5 Tiefe b 12 NN
P b - 24 .
A company of the Siedle-Group

H35:021-5419 1392  4pT.:173 1638 6953  Muk:www.tifu-auto.com H4:info@imcortech.cn



RERBEEAR (L FRAF

Vert-X 37E4
ZRER
THLEQ)
= MH-C 3.85mm
—+I MH-C redundant 4.35mm
e g MH-C2 3.85mm
R MERATIRR K A iR
dx +0.25mm
dy +0.25mm
dz +0.5mm
Vert-X 37E1
TEREER
TENE(Z)
MH-C 4.95mm
MH-C redundant 5.45mm
% . 1 MH-C2 4.95mm
g REPERATHUB IR A Jo 8830
M
A dx +0.25mm
dy +0.25mm
dz +0.5mm

CONIELEC

A company of the Siedle-Group

H35:021-5419 1392  45T.:173 1638 6953  Muk:www.tifu-auto.com  H4:info@imcortech.cn



RREERAR (L) FRAF

Vert-X 37E2

ZEER

THEMEZ)

MH-C 6.45mm
MH-C redundant 5.95mm
MH-C2 6.45mm

I BT B K R 4EL

p—

r dx +0.25mm
dy +0.25mm
dz +0.5mm
Vert-X 37E

50
Q

~ oL
Te)
© |

Y |

i 5 ' _

i
33, 8

35
1,5

CONIELEC

A company of the Siedle-Group

H35:021-5419 1392  4pT.:173 1638 6953  Muk:www.tifu-auto.com H4:info@imcortech.cn



	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7



